Y axis

% households owning
>1 ITN

% households owning >1 ITN

X axis

% population with access

toan ITN

anyitn = 1.102 + 1.754 popaccess - 0.007 popaccess? R =95.

% households owning >1

ITN per 2 people

anyitn = 16.538 + 2.445 own1per2 - 0.019 owniper2: A2 =82.(

% population that
used an ITN

ITN indicators plotted against each other

Linear (gray line), quadratic (pink), and fractional polynomial fits (shaded area)
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%ousengids ownjag =1 TN for every 2 pegple

20 40 60 80 100
% population that used an ITN the previous night
=207 RMSE finear = 11.109 quad = 11.134
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% population that used an ITN the previous night
=207 RMSE inear = 7.905 quad = 7.756

anyitn = 15.511 + 1.015 popaccess A2 = 92.7% anyitn = 37.557 + 0.974 ownlper2 R =68.7%
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